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Programming Languages



A2 Bt =k ()

A

—&/H QDP(A pplicative Order Evaluation)
HA )} (Stnct Evaluation)

- IAMKS0l HA IS

— HOIE OAMIS0 CHoll H&XIF HEs8E

A+ =N HIHNormal Order Evaluation)
= o] XA &E Db (delayed evaluation) £ = H| &

2 Jﬂ'—DP (non-strict evaluation) &£ = IQE =l
(Iazy evaluation)
— AQXKXIDF TAMKECH AL HILE

— HAERE A B
L Us Us0l Lhe s 0lE0A €3
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Col HH& ALEAL
(assignment operators)

#include <stdio.h>
int x = 1;

int £ (wvoid)
{ x += 1;
return x;

}

int p( int a, int b)
{ return a + b;

}

main ()
{ printf ("%d\n" ,p(x,£()));
return 0;

}




=N GIAKE Bt =A

A3 A ALXL (Sequence Operators)

x = (y+1,x+y,x+1)
x = 10,000;
x = (10,000) ;

=Z|& And 2 =2|& Or
— =c2|& 0l A&t = &= gl2g £+~ QIS
If Al
c ? el : e2
Case &
case e0 of
a => el |

b =>e2 |
c => e3 ;



Chet S| 2 Bt (Short-Circuit Evaluation)

. Che 3|2 HIIE Sof 2tatst 280l JtsE
— teh o2 HIF AFES
if (x '= 0 && y3x == 1

— tter ol "It AIE ot
if (x '= 0) if (y%x == 1) ...

.« O HO{ES B2t 3|2 BIIE AR5t ¢
AR €K 22 F=2 Y HeAE = L
INE=R=l
— Ada,

* and, or L_’Jéf §|§ O|'Lé|

* and then, or else L_’J éf §|§



drt =M 8t

ALMANSS Bitets A7 .0 AR LA AFE ALY
dolot === 2ol 2 AL

int double (int x){ return x+x; }

_ _ square (double (2))
int square(int x){ return x*x; }

double(Z}*double(

k//////éa\\\\\\\$

(2+2) *double (2) double (2) * (2+2)

| |
4*double (2) double (2) *4
| |
*(2+42) (2+2) *
44
|

16
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P& It = (Guarded If)

« E. W. Dijkstra Jt =&&

-
[ — o N AL (- )
e FAM=S HIZBAEAMEOE MEHS & QI3
~
if B, -> S, >Bi%6+ Lol Ol E =0 B, Jt &0[H
S, Jb &l =
| B, -> S, k =
~/
| B, -> S_

fi



& ==-Else (Dangling-Else) & Xl|

HE if I} FH 2 el1se 2 AZEI}?
if (el) if (e2) sl else s2

6H 24 XH
= T
— 2 2E SE RO O S8 JdZst e #E)
« else = [UE else 2t HZLA| E2 MY JE &2 if &
012 =
— 72t I’/ & (bracketing keyword)
- if =2 02 &8 JI/ &2 235 0F ettt

if ... £i
« AdalilAl= =& if E ?loll e1sif E XNEE (LhIS2 W)

1if el then S1 1if el then S1
else 1f eZ2 then S2 elsif eZ2 then S2
else 1f e3 then S3 elsif e3 then S3
end 1f ; end if ; end end if ;

1T;



Case-= 1 Switch-=

EHPEDP == Al 2f(ordinal values) Q! ‘Guarded If'2| & &
C2l Switch &

— < WA L= (falls through') 21 0|

— 2f case ét= FIWE AIZH0ll otLES] &= HAHE == JAOI0F &

— case gt=0| ASKAAHE (F, case gt=0| =& UL F=EHH
= §=H E”/\E_El A Ol S
= =0 == T MD)

— C?56+ at= = WA gt = YO0l S HOF & (exhaustive) >  Ct
5

ML2| Case 4!

— case +&=0]

| —

— case = gt0|ct
— CIZ2E 0|l A= 2t

F

ohEtst 2 91010 B (O KHXIDH Al0] 2 2)

EU

~

IHE & (wildcard pattern)



JIS Do (Guarded Do)

« Al E. W. Dijkstra

» 2= JIES0] false€ MNHAl S& 0] EH=

&l
(=)
do B, -> S; ~
| B, -> S — = _ _
? ? | B, S GILI2 OIS S0f B, Ot BOIH,
s, Jh &dE
| B, -> S,

od



While s &

« ofLIL| JIERHE JHAlE e Do

e do-while 2X = whilel| 212X tto

L

(syntactic sugar)

do S while (e);
= S;
while (e) S;

11 0| &=

 break 2= 0|Z20dlf H] e S&
E 0t= &= US (cf. continue &)
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28z dHE = Bt==2
HHE H2|0 Het
Note) ISO Standard C
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For S22 EH| Ol~=

Of AHlgt= etHBE H AT OF ot=IF?
(Iower bound)O| &Fet(upper bound);
LA, S22 LR sHle 85 =25
FOF of=J1? OFL|HH, et 0|2t = &l S
F of=Jt?

— C 92 do while, while, for

ol Itl
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SHIE 0|2 LHE == Y=IF? (exit £=
break &)
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e CLU &2 A =2 Iterator

~for 2T LSOl (3 LBHE

— AN Bl&st eb=2} Hl==¢et

— 2482 B A AH=0 2 of
{2 d=&

= At(Iterator)

X O

2l SEIS HIAl

OlE1dI0lE 4

yield (string$fetch (s, ind

ei

for c¢: char in stringchars(s) do
stringchars = iter (s: string) yields (char);
index: int := 1;
_ . B . . Ol& dlI Ol &
limit: int := stringS$Ssize(s); ctrinachars =
while index <= limit do ° =

=& OIS = &

: , EZ2IAN SAE of
index := index + 1; LEAl = e
end;

end stringchars;




C++ STL &= Javall Bt=At (S5 2)

e Java- &2

. C++ —2008& 2st)| 11
Y Hl1ed

Programming Languages
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GOTO 2 ©I&t

A TFHIE

—
- I

- U= & 2 2= dloll E At

IF (X.GT.0) GOTO 10 if (x > 0)
IF (X.LT.0) GOTO 20 X = x + 1;
X =1 else 1f (x < 0)
GOTO 30 { X = =X;

10 X = X + 1 X =x + 1;
GOTO 30 }

20 X = =X else
GOTO 10 X = 1;

30 CONTINUE




Ol=H el 2 A
e 2AKNCIMOGH tHet Ol=& &
— Bohm 1t Jacopini, 1996
- 2= JtsE JHI(H —_rl = A8 MK 24




GOTO =&

"GO TO Statement Considered Harmful”
— Dijkstra, 1968

"“"GOTO considered harmful’ considered
harmful”

— Rubin, 1987
. HANYNOZ2
— GOTOS| At=0 & =et Alet0l Jholl J L.
X0

— Javac ct¥ 0| = break 2} continue =
A ML},

—Javalll A goto = (& == A=) W GOILC
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raise IL= throw
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M2l (HH2e HS)

0l 2] Of
Ol 2 & A = J} & Ol o =
BION=
ML N =&t
LIE &A=t
Ada s =) SV oll T LEs
o
= Jl= ot Al 2,
RS HE EfKO0l= ~ Hol Jtest
olelzs 88&




==

9

k= e = Jl=H=SHE MEL?
ey {
C++ } dh=ok
catch (typel varl) {..}
catch (type2 var2) {..}
begin R R
Pl =JlsotLt JI=
Ada exception =)t CHEl | &
when exceptionl => .. AL o=
i eI AUR AN D
when exception2 => ..
val name =
MI.  |bhandle ==

exceptionl => ..
exception2 => ..




Al O

Ol 2 &4 (Exception Raise)

=)

0

L2 g (Resumption Model): MOt HS W2 A} E L
£ =0t

2 (Termination Model): JIH It =02 S US
Ol DE=Z =0Is (HWRE=2 &E32)

— AIAE0l d2st Hlel: As Edot AU, == Ede

— ANEAEE2le He: 2 =82 Edd

Ml 2l & Ut (Exception Propagation)

- DY SSPIl S0, 0 RES Y1 Y= 220 HMSY B2
= &L

— Q2 OtE g2 =0 UUE A, (8 sisd: 2= +=
ALIH, LIZSE S I) ===

=22 H 2| Bt&t (Return from Handler)
ol
;
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— See Fig. 7.11 (Recursive Descent Calculator in

C++)



